PARTS LIST

ITEM[QTY| PARTNO. PART DESCRIPTION LENGTH UNIT WT. NET WT.
1] 2 SP1586 WALL MOUNT BRACKET FOR 4 RUNS OF COAX 2.78 5.57
e ke 11 21/32" - 2 | 1 X-WMC4D 16 GA SHEET (FY=35 KSI MIN) 49.80 49.80
k/g 3 | 7 RN38 RETAINING NUT 3/8" X 1-1/4" 0.04 0.27
3 o o o 4 | 7 G38FW 3/8" HDG USS FLATWASHER 0.01 0.08
. 5 | 7 G38LW 3/8" HDG LOCKWASHER 0.01 0.05
—_ s
/7T 6 | 7 G38114 3/8" x 1-1/4" HDG HEX BOLT GR5 0.06 0.44
[}
\\ ’ TOTAL WT. # 56.22
\
/ \
[ \ o
e _—
! ~ - -
{ @ l ] s N\ o ™~ 3/4" DIA.
/
\ / ( o Joooo0]} /
\ / o B qc o p / s/ Y
~
~1 h 21/2" TYP. \
RS { / \
/ \
DETAIL B o O O d !
|
/@ 96" e 51/2" —»] /
/
\ /
48"
h DETAIL C '
‘\ /’ 9116" DIA.
\\ ,/
\\ ‘/
Se——————T
O 0 0 o
e qd o o b
0
N
(¢
N~ e
DETAIL A /
\ P & 8 8
/ PREPUNCHED HOLES FOR
GROUNDING LUGS
DETAIL D
TOLERANCE NOTES DESCRIPTION Locations:
TALL WALL MOUNT o Now York, NY
TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: Engineering  Atlanta, GA
SAWED, SHEARED AND GAS CUT EDCES (£ 0.0307) COVERED COAX KIT RO Support Team:  Los Angsles, CA
DRILLED AND GAS CUT HOLES (#0.030") - NO CONING OF HOLES 4 RUNS (8 RUNS STACKED) . 1-888-753-7446  Flymouth,
LASER CUT EDGES AND HOLES (% 0.070") - NO CONING OF HOLES A valmont P covANY Dallas, TX
BENDS ARE t 1/2 DEGREE
ALL OTHER MACHINING ﬂo,oao'? CPD NO. DRAWN BY ENG. APPROVAL PART NO. N
ALL OTHER ASSEMBLY (£ 0.060") ile0 |CEK  8/31/2011 WMC4D oz
:HMPNEIAR'VNOTE: INTHIS DRAWING VALMONT CLASS| SuB | DRAWING USAGE CHECKED BY DWG. NO. m %
N
INDUSTRIES AND GONSIDERED ATRADE SECRET. o 81|01 CUSTOMER |BMC  9/6/2011 WMC4D




